PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11605012 | 18-Jun-2016 | CONZZ02678 |LAMP TANGSTEN HALOGEN 220V 500W "PHILIPS" 35.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
2 11605014 | 17-Jun-2016 | CONZZ05708 |INSULATED CONNECTOR (BLUE) SLEEVE BF2 (1.5-2.5 SQMM) 700.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 27-Jun-2016
3 11604696 | 15-Jun-2016 | CONZZ05728 |PLASTIC COVER ELEC.BOX 3 DEVICE 15.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
4 11510113 15-Jun-2016 CONZZz06070 |CONDUIT IMC 3/4" 10.00| PIECES THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 27-Jun-2016
5 11604727 | 15-Jun-2016 | CONZZ06071 |FLUORESCENT LIGHTING FIXTURE 2x40W WATERPROOF 30.00|  Set THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
6 11604833 | 15-Jun-2016 | CONZZ08915 |BALLAST TYPE BTA36L04 220V. FOR FLUORESCENT LAMP 36W. ""PHILIPS"" 12.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 27-Jun-2016
7 11604834 | 15-Jun-2016 | CONZZ08925 |LAMP METAL HALIDE 220V 400W HPI-T400 , E40 (CYLINDER) 10.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
8 11604798 | 15-Jun-2016 | CONZZz22772 |COPPER GASKET ID=205,0D=280,TH=4.5MM (SUCTION PUMP DESCALING) 2.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
9 11605054 | 18-Jun-2016 | CONZZ29173 |TERMINATION-APKT 17C1XI 12-17.5KV. 95-240 mm2. RAYCHEM. 1.00[  set THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
10 11603177 | 18-Jun-2016 | CONZZ30492 |LAMP HIGHT PRESSURE 70W 220V TYPE SHP-70E27"SLYVANIA" 1.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
11 11604953 | 18-Jun-2016 | CONZZ30970 |REFRIGERANT BLUE PLANET BPX-4400 (R417A PLUS) (MSDS) 20.00| Kilograms THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
12 11604926 | 15-Jun-2016 | CONZzZz30975 |OIL FILTER ELEMENT/2ACII "INGERSOLAND" CNN#67902965 2.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
13 11604931 | 18-Jun-2016 | CONZZ31203 [SPORTLIGHT FIXTURE LAMP 500 W.220 VAC. TANGSTAIN "PHILIPS" 10.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
14 11605092 | 15-Jun-2016 STA8888888  |uumina’ 1.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jun-2016
15 11604925 | 17-Jun-2016 | CONAZ30074 Q;P;,E ;35008-512&;'55}1%555;0|:4E7"£ADIAL M789/R157/LM isuanisiduasainss 20.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
16 11605203 | 18-Jun-2016 | CONAZ30074 Q;F;E ﬁl-géooéslzgggggﬁilo':,IE;SADIAL M789/R157/LM isuanisideasainas 20.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
17 11603730 | 17-Jun-2016 | CONZZ18432 [SOLID MARKER (RED) 360.00|  Bar JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
18 11605036 | 15-Jun-2016 | CONZZ18443 |STEEL STRAPPING JUMBO COIL UNPAINT(Lin&aus) 31,192.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
19 11604816 | 13-Jun-2016 | CONZzZ18551 ?;C?ﬁfﬁq"A(BYE,\'I‘)SIZE +10.1 CM. * 34.4 CM SHIPMENT FOR PRINTER 3400 30,000.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
20 11604815 | 13-Jun-2016 | CONZZz18703 |LIQUID OXYGEN IND BULK 7,923.00 ;g:’r'gs JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
21 11605132 | 17-Jun-2016 | CONZZ25306 |HYDROCHLORIC ACID  (HCL 35%) 600,000.00| Kilograms |  JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
22 11605033 | 18-Jun-2016 | CONZZ28539 |JOBBER DRILLS (HSS) DIN 338 DIA.4x75 MM TYPE N 10.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
23 11604956 | 14-Jun-2016 | CONZZ29196 |CHEMICAL KURIFIX CP-659 100.00| Kilograms |  JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
24 11604956 | 14-Jun-2016 | CONZZ29197 |CHEMICAL KURIDYNE M-301 153.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
25 11604956 | 14-Jun-2016 | CONZZ29198 |CHEMICAL KURIZET S-2048 1,452.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
26 11604956 | 14-Jun-2016 | CONZZ29199 |CHEMICAL KURITA Z-8225 64.00| Kilograms |  JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
27 11604956 | 14-Jun-2016 | CONZZ29200 |CHEMICAL KURITA S-6600 156.00| Kilograms |  JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
28 11604956 | 14-Jun-2016 | CONZZ29201 |CHEMICAL KURITA Z-8952 350.00| Kilograms |  JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
29 11604907 | 17-Jun-2016 | CONZZ30075 |TUBE 10.00-20-7.50 PREMIUM 10.00 R20 tnelu fiia BRIDGESTONE 40.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
30 11604956 | 14-Jun-2016 | CONZZ31705 |CHEMICAL KURITA NT-743 (20 KG/DRUM) 6.00 DRUM JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jun-2016
31 11605061 | 15-Jun-2016 | CONAZ06353 |GRINDING WHEELS TYPE 27 SPEC A 24 R DIA.100x16x4 mm. (SSM) 300.00{ Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
32 11605187 | 18-Jun-2016 | CONAZ06453 [SPRAY PAINT BLACK  USE HOT AREA (400 CC.) 6.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 1 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11604705 18-Jun-2016 CONZZ05628 HACKSAW BLADE 18 TPIx12" "ECLIPSE" 30.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
34 11604706 15-Jun-2016 CONZZ05695 ACID (1innsa) FOR VEHICLE 72.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
35 11605144 18-Jun-2016 CONZZz06030 PAINT BRUSH 2" 10.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
36 11605145 18-Jun-2016 CONZZ06032 PAINT BRUSH 4" 10.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
37 11604728 13-Jun-2016 CONZZz06152 GRINDING WHEELS TYPE 27 SPEC A 24 R SIZE 100x6x16 mm. "SSM" 75.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
38 11604707 13-Jun-2016 CONZZ06420 |CUTOFF WHEELS TYPE 41 SPEC A 36 P SIZE 100x2x16 mm. "SSM" 150.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
39 11605016 17-Jun-2016 CONZzz06424 DISTILLED WATER 68.00( Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
40 11604885 15-Jun-2016 CONZZz06425 "SONAX" MOS 2 OIL NO.301 53.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
41 11605139 17-Jun-2016 CONZZz06463 GRINDING WHEELS TYPE 27 SPEC A24 R SIZE 100x2x16 mm. "SSM" 450.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
42 11605017 15-Jun-2016 CONZZz06471 GRINDING WHEELS TYPE 27 SPEC A C 60 SIZE 180x2x22 mm. "SSM" 150.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
43 11604708 17-Jun-2016 CONZZz06475 PAINTING BRUSH 1" 13.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
44 11605140 18-Jun-2016 CONZZz06475 PAINTING BRUSH 1" 10.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
45 11604730 18-Jun-2016 CONZZ06486 SILICONE SEALANT L6301 "SONY" COLOR:CLEAR 50.00| TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
46 11605146 17-Jun-2016 CONZZ06498 WELDING ELECTRODE"GEMINI"AWSE7016 DIA.2.6 LD52 100.00( Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
47 11605147 17-Jun-2016 CONZZz06501 WELDING ELECTRODE"GEMINI"AWSE7016 DIA.4 MM LD52 100.00( Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
48 11605148 17-Jun-2016 CONZZ06505 WELDING ELECTRODE DIA.2.6AWSE 308 L-16"GEMINI" 20.00] Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
49 11604731 15-Jun-2016 CONZZz06700 TEFLON (10M X 12MM) (THAI PIPE JORE-TEX) 50.00 Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
50 11604724 13-Jun-2016 CONZzZz08594 CUTOFF WHEELS TYPE 41 SPEC A 36 P SIZE 180x2x22 MM. "SSM" 100.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
51 11605186 18-Jun-2016 CONZz09185 GLUE PVC 1/2 LT 1.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
52 11605172 18-Jun-2016 CONZZz13840 FILL COAT SHELL (3.500 LT.) 5.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
53 11605038 18-Jun-2016 CONZZ14563 BLIND RIVET CODE 5-6 SIZE 5/32"-1/2" 1.00 box CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
54 11604822 15-Jun-2016 CONZZz14681 LOCTITE 263 ( 50 ml. ) 10.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
55 11604823 18-Jun-2016 CONZZ14695 GRINDING WHEELS TYPE 27 SPEC A 24 R SIZE 180x6x22 MM "SSM" 175.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
56 11605037 18-Jun-2016 CONZZz14715 LIQUID CLEANER (400 ml.) "inena1oidu" 10.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
57 11603142 18-Jun-2016 CONZZz24814 LOCTITE 573 1.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
58 11605165 18-Jun-2016 CONZZ24814 LOCTITE 573 2.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
59 11605053 18-Jun-2016 CONZZ28980 THINNER NO.31 (wa&u& EPOGUARD) TOA 20.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
60 11605205 18-Jun-2016 CONZZ31244 indasasne aue 1/2" was 13-16 "ORBIT" 15.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
61 11605206 18-Jun-2016 CONZZ31245 indasasne 2w OX was 19-25 "ORBIT" 24.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
62 11604936 17-Jun-2016 CONZZ31929 aszaEnadau 4 63 was 320 jusaud 40.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
63 11604600 17-Jun-2016 STA3000076 ngywa "SOLO"auaueeny aue 2" 40.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jun-2016
64 11509689 | 16-Jun-2016 | CONzz2g899s |O-RING(ID=129.3x5.7 mm) [MAT.VITON] +2 BACK UP RING 11.00  Set ONCHAWIANG, MR. PHAIBOON BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-Jun-2016

(ID=130.6x140x1.9 mm.) [MAT.PTFE.]

Page 2 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
65 11604998 15-Jun-2016 CONAZ28683 |HAND TAP HSS M6*1MM."KANI" 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
66 11604998 15-Jun-2016 CONAZ28685 |TAP (HSS-HT) M8 x 1.25 mm 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
67 11604998 15-Jun-2016 CONAZ28687  |TAP (HSS-HT) M10 x 1.5 mm 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
68 11605143 18-Jun-2016 CONZZ01623 E/'El\f_ggle3Ff(;31%I3E_%é+;g¥V AP;ESCS(’)'SS’I%BE%RFMFUALI\?;LZFEP 75 FFLF DR-186 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
69 11605043 18-Jun-2016 CONZZ08955 |FAN MOTOR 24VDC.DIA.10" FOR AIR CONDITION SYSTEM FANTUZZI 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
70 11604837 15-Jun-2016 CONZZ09330 ZVAI;E(;{P?F_{AA?'(E)F({FFR/-(\)N'\'II:BZZIN 176000126 (L= 650 MM.) FOR FORNT SIDE OF 8.00|  Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
71 11604829 15-Jun-2016 CONZZz11717 (")AFMKPREQEOGEN P/N. 9W-1281 (OIL P/N. 8T9886) FOR LIGHTING SYSTEM 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
72 11605009 15-Jun-2016 CONZZz18767  |SEAL RING P/N 9H3360 FOR KRESS 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
73 11604814 15-Jun-2016 CONZZz18768 [SEAL O-RING P/N.6F0711 FOR DIFFERENTIAL GROUP OF KRESS 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
74 11605009 15-Jun-2016 CONZZz18773 |SEAL RING P/N 430523 FOR KRESS 6.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
75 11605163 18-Jun-2016 CONZZ28585 EEE@E‘ INSERT LOCK NUT 7/16-20 P/N.139-4187 (OLD P/N.616698) FOR 30.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
76 11604893 15-Jun-2016 CONZZ29095 |&iwdumuainas EPICON FINISH RAL 5015 TOA 10.00{ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
77 11604904 15-Jun-2016 CONZZ29980 E('Si'\;ELIN;rST%E;'gTSASY'OIL FILTER P/N 1502-20 (15601-76009-71) FOR 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
78 11604905 15-Jun-2016 CONZZ30009 |FUEL FILTER ASS.LY P/N 2V.11110683 FOR FANTUZZI NO.16-17 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
79 11604909 15-Jun-2016 CONZZ30133 SEETE?;T;JEFI_QEII(_)T;;IZ/(I\;&ZA?’;EOL1290 (HINO HO6C) (CORNER) NO.9- 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
80 11604910 15-Jun-2016 CONZZ30134 |ELEMENT OIL FILTER P/N 15607-1100 (HINO HO6C) FOR ORMIG CRANE 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
81 11604912 15-Jun-2016 CONZZ30191 Sé;g?:IER P/N.YM129150-35152-T FOR KOMATSU FORKLIFT MODEL 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
82 11604913 15-Jun-2016 CONZZ30284 Eggiinérsi—g;EuLC;;ggspl{a%giﬁléltgl(:él\lz'627502-23320-71) FOR TOYOTA 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
83 11604914 15-Jun-2016 CONZZ30285 E{)LFLEElérsi-gDREELT;JEgzz/ugggi-én\lle(lplég'2672503-23321-71) FOR TOYOTA 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
84 11605199 18-Jun-2016 CONZZ30322 E'F‘{iTEENRT#ETlg/N'15274'90226 "BLACK CLUB" (OLD P/N 15274-EP026) FOR 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
85 11605200 18-Jun-2016 CONZZz30323  |ELEMENT KIT P/N 15274-EP025 "CORNER" FOR TRAILER#1-10 2.00| Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
86 11605201 18-Jun-2016 CONZZz30325 |ELEMENT KIT P/N.16444-99129 POS.1-3 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
87 11604981 15-Jun-2016 CONZZ30352 |CABLE ASS'Y-JUMPER (FIG.C451C) POS.160 P/N.24084-00Z11 2.00| Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
88 11604999 15-Jun-2016 STA4000338  |TAPER SHANK DRILLS DIA. 14.00 MM. 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
89 11604999 15-Jun-2016 STA4000342  |TAPER SHANK DRILLS DIA. 32.00 MM. 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
90 11604947 14-Jun-2016 STA4006538  |1Wata LED ULTRAFIRE 5u WF-502B 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
91 11605091 17-Jun-2016 STA4006597  |1Wata ULTRAFIRE ZOOM POWER STYLE (BOX SET) 1.00|  Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
92 11605008 15-Jun-2016 STA9999999  |gAnunndulAasane 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
93 11605008 15-Jun-2016 STA9999999  |asvuaniusandvaina NKR aelifilaan 7/8 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
94 11605008 15-Jun-2016 STA9999999 wiunaduay 14 uu. 9.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
95 11605008 15-Jun-2016 STA9999999 selgarzue 16 i 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
96 11605008 15-Jun-2016 STA9999999 |dadidn 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 3 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
97 11605008 15-Jun-2016 STA9999999  [nsasifuiAdas 4A 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
98 11605008 15-Jun-2016 STA9999999  |Zasingj 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
99 11605008 15-Jun-2016 STA9999999 |aelaaruuia 21 i 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
100 11605008 15-Jun-2016 STA9999999  [anawiusmau 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
101 11605008 15-Jun-2016 STA9999999  |umiumasuas 8 uu. 10.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
102 11605008 15-Jun-2016 STA9999999 aszuanusandvtng NKR uuflaan 7/8 i 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
103 11605008 15-Jun-2016 STA9999999  |aszuanusaninann NKR wihanuu 1 1/8 i) 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
104 11605100 18-Jun-2016 STA9999999  [wdnfauunina3 2.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
105 11605100 18-Jun-2016 STA9999999 WaNg 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
106 11605100 18-Jun-2016 STA9999999  |anawiu BX41 (8410) 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
107 11605100 18-Jun-2016 STA9999999  |dusiati 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
108 11605100 18-Jun-2016 STA9999999  |anawiu 12.5x1000 uu. 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
109 11605100 18-Jun-2016 STA9999999  |anawiu 9.5x1125 . 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
110 11605100 18-Jun-2016 STA9999999  |uaaa'lW 24V 60W 10.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jun-2016
111 11604916 13-Jun-2016 CONAZ00003 [COTTON RAGS DIM.18x18 CM. WEIGHT 1KG.=17fu (25 KGS./BAG) 875.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
112 11605202 17-Jun-2016 CONAZ00003 [COTTON RAGS DIM.18x18 CM. WEIGHT 1KG.=17fu (25 KGS./BAG) 500.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
113 11605022 | 15-Jun-2016 CONZZ06485 EF:,BPANE GAS (LPG)=48 KGS (fivipefl Ju,fiou, 0 vasay aSsqavhe bLiviu 11.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
114 11604835 13-Jun-2016 CONZZ09232 |COTTON GLOVE 5,000.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
115 11605041 17-Jun-2016 CONZZ10612 |NITROGEN GAS (N2) (&9siasfi Ju,ifau,il wveday efosavine ‘LiAu 5 1) 3.00| CYLINDER PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
116 11604819 17-Jun-2016 CONZZ16928 |lude@ud1iias (DELIVERY NOTE) nsvameialilage COPY muna A4 40.00[  box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
117 11604919 13-Jun-2016 CONZZ30510 avuagwaIRAnIavaRLAY au1a  36"x45" Jun 480.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
118 11604920 15-Jun-2016 CONZZ30515 [Uigfu wuuniiusuaagiiiay 10.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
119 11604921 15-Jun-2016 CONZzZ30521 |iendagiiu 20.00| GALLON PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
120 11604922 15-Jun-2016 CONZZ30522 |gqouazddrauie 24"x28" 50.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
121 11605060 15-Jun-2016 CONZZ30639 |[qoaumz auim 18"X20" &sn 35.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
122 11603962 13-Jun-2016 STA1000509 [nszanmsaiilas 9"x11"(NOCOPY) 12.00| box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
123 11603962 13-Jun-2016 STA1000511 [nszanmsaidlas 15"x11"(NOCOPY) 12.00| box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
124 11605210 17-Jun-2016 STA1004288 |ihaanudaaada auie 1.5%1.0 was 5.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
125 11604504 13-Jun-2016 STA2000004  |NAME CARD W wuy 2 § 100.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
126 11604629 14-Jun-2016 STA2000004  |NAME CARD A wuy 2 & 100.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
127 11605108 16-Jun-2016 STA2000289  |&esiuiwds DRY CHEMICAL 2una 15 dausi(RAT.6A:30B) 8.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
128 11605214 18-Jun-2016 STA2000393  |nszanm=nnd 2" 24.00 Roll PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 4 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
129 11605108 16-Jun-2016 STA4006491 glddoduiwds Extingusher Box 8.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
130 11605007 16-Jun-2016 STA4006723 winn safety 8211 (wed) dadalszaiuou Ragnan Tel.5225 70.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
131 11605007 16-Jun-2016 STA4006723 winn  safety &ndas  (wad) Aesalsyaiuau Auanan Tel.5225 30.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
132 11605214 18-Jun-2016 STA9999999 asta e TUAmasRUN 50.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jun-2016
133 11605089 14-Jun-2016 STA1000251 thamasviauugs  &idag 12.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
134 11605089 14-Jun-2016 STA1000253 ihnamssviauusy  Ruuw 12.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
135 11605088 14-Jun-2016 STA1000471 SuLiinaf 48.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
136 11605088 14-Jun-2016 STA1000485  |ulu 3" 9.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
137 11605089 14-Jun-2016 STA1000489 fusa HB dva e 24.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
138 11605088 14-Jun-2016 STA1000500 |&faemwnid  No.600 36.00[ Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
139 11605088 14-Jun-2016 STA1000502 anuunaf 48.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
140 11605088 14-Jun-2016 STA1000503 uhlase&y 50.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
141 11605087 14-Jun-2016 STA1000507 NITON 200.00/ Ream PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
142 11605088 14-Jun-2016 STA1000528 HRSRHTE R 50.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
143 11605088 14-Jun-2016 STA1000530 INDEX 36.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
144 11605089 14-Jun-2016 STA1000545 DOULBLE CLIP No.112 36.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
145 11605115 16-Jun-2016 STA1000548 NIV 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
146 11605116 16-Jun-2016 STA2000539 auuagdn 30x40 30.00| Kilograms PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
147 11605115 16-Jun-2016 STA2000586  |udluwaiadfin A4 30.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
148 11605089 14-Jun-2016 STA4000002  |CUTTER 24.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
149 11605116 16-Jun-2016 STA4006458 a1 fva ladauad 3.8 &as  (Wuuunamau) 8.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Jun-2016
150 11604997 14-Jun-2016 STA8888888 uueipaifiaia Iphone SCamsuNinns 3.00( Each THONGYEET, MRS. SULEEWAN BSP SuleewanT@ssi-steel.com INCOMPLETE 27-Jun-2016
151 11604957 18-Jun-2016 CONAZ06692 CARBON STEEL PIPE #SEAM DIA 3" SCH40 x L 6 mtr 8.00( PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
152 11605021 18-Jun-2016 CONAZ06782 BOLT&NUT HEX.HEAD M10-1.5x80 (STAINLESS) FOR MOTOR ROT 100.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
153 11604697 15-Jun-2016 CONAZ12300 NUT HEX.HEAD M12-P.=1.75 (STAINLESS) FOR WET SECTION 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
154 11604943 14-Jun-2016 CONAZ19786 STAINLESS STEEL PIPE = SUS304 DIA.4" SCH40(SEAM) 5.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
155 11604694 15-Jun-2016 CONAZ22473 I\S,l?,lc':KET HEAD CAP SCREW MA48-3x180MM CLASS 12.9 END THREAD = 115 6.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
156 11604700 17-Jun-2016 CONZZz04957 SOCKET HEAD CAP SCREW  M20-2.5x55 mm. FOR VEHICLE 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
157 11605013 17-Jun-2016 CONZZ04959 SOCKET HEAD CAP SCREW M12-1.75x45 mm.#CLASS 8.8 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
158 11605138 18-Jun-2016 CONZZz05663 BALL VALVE 1"#BRASS WP.400 PSI.(END THREADED) 2.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
159 11604701 17-Jun-2016 CONZzz05757 BOLT HEX.HEAD (CLASS 8.8) M12-1.75x35 mm. 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
160 11604704 17-Jun-2016 CONZzZz05763 NUT HEX.HEAD (CLASS 8.8) M30-P.3.5 480.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 5 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
161 11604959 14-Jun-2016 CONZZ05839 ANGLE STEEL JIS G 3192 DIM.50x50x6 MM. L=6 MT 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
162 11604729 17-Jun-2016 CONZZ06384 BOLT&NUT HEX.(STAINLESS) M12-1.75x50 mm. 80.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
163 11605133 17-Jun-2016 CONZZ06509 ANGLES STEEL JIS G 3192 DIM 50x50x5 mm L=6 Mtr 10.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
164 11604959 14-Jun-2016 CONZZz06511 ANGLE STEEL JIS G 3192 DIM.75x75x6 MM.L=6 M 10.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
165 11604957 18-Jun-2016 CONZZ06693 CARBON STEEL PIPE #SMLS DIA.3 1/2"SCH40 x L.6 mt. 1.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
166 11605023 18-Jun-2016 CONZZ06715 EXPANSION BOLT (ANCHORS) M10x106 mm.(M12096) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
167 11605018 17-Jun-2016 CONZZz06743 FLAT WASHER (STEEL BLACK)M6 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
168 11605142 18-Jun-2016 CONZZz06746 FLAT WASHER (STEEL BLACK)M12 FOR VEHICLE 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
169 11605019 17-Jun-2016 CONZZz06762 BOLT&NUT HEX.HEAD M6-1x20 mm.(CLASS 8.8) 60.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
170 11604709 15-Jun-2016 CONZzz06770 BOLT&NUT HEX.HEAD M8-1.25x30 mm.(CLASS 8.8) 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
171 11605141 18-Jun-2016 CONZz06770 BOLT&NUT HEX.HEAD M8-1.25x30 mm.(CLASS 8.8) 40.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
172 11604710 15-Jun-2016 CONZZz06776 BOLT&NUT HEX.HEAD M10-1.5x20 mm.(CLASS 8.8) 60.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
173 11604711 18-Jun-2016 CONZz06777 BOLT&NUT HEX.HEAD M10-1.5x30 mm.(CLASS 8.8) 120.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
174 11604695 15-Jun-2016 CONZZ06857 (L)(;\évsﬁ:\;,szo CKET CAP SCREW M8-1.25x16 mm. (HEAD T=5MM) FOR PAY 40.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
175 11604722 15-Jun-2016 CONZz07917 gllf—iﬁl'%:;I\ITISLEPigEIIE\IFE/CVTOOSRSI;I\?E"OD8 MM. (1/4 BSPP) WITH O-RING 160.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
176 11604732 17-Jun-2016 CONZZz08014 BOLT HEX.HEAD M20-2.5x70 mm.(CLASS 8.8) 70.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
177 11604733 17-Jun-2016 CONZzZz08016 BOLT HEX.HEAD(CLASS 8.8) M20-2.5x100 mm. 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
178 11604714 17-Jun-2016 CONZzZz08025 BOLT HEX.HEAD M24-3x80 (CLASS 8.8) 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
179 11604715 17-Jun-2016 CONZZz08026 BOLT HEX.HEAD(CLASS 8.8) M24-3x90 mm. 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
180 11604716 17-Jun-2016 CONZZz08040 BOLT HEX.HEAD (CLASS 8.8) M30-3.5x120 mm. 300.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
181 11604717 17-Jun-2016 CONZZz08041 BOLT&NUT HEX. HEAD M30-3.5 x140 MM (CLASS 12.9) 194.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
182 11605024 17-Jun-2016 CONZZz08073 SOCKET HEAD CAP SCREW  M5-0.8x20 mm. 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
183 11604735 15-Jun-2016 CONZz08084 SOCKET HEAD CAP SCREW M8-1.25x25 mm.#CLASS 8.8 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
184 11604424 17-Jun-2016 CONZZz08093 SOCKET HEAD CAP SCREW  M10-1.5x40 mm. 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
185 11604718 15-Jun-2016 CONZz08100 SOCKET HEAD CAP SCREW M12-1.75x25 mm. 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
186 11604719 15-Jun-2016 CONZz08101 SOCKET HEAD CAP SCREW M12-1.75x40 mm#CLASS 12.9 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
187 11604720 15-Jun-2016 CONZZz08105 SOCKET HEAD CAP SCREW M12-1.75x80 mm. 70.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
188 11604721 15-Jun-2016 CONZZz08111 SOCKET HEAD CAP SCREW  M14-2.0x70 mm. 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
189 11604723 17-Jun-2016 CONZZz08132 SOCKET HEAD CAP SCREW M20-2.5x120 mm. CLASS 8.8 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
190 11604736 15-Jun-2016 CONZZz08142 SPRING WASHER M10 (MAT.STEEL BLACK) FOR VEHICLE 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
191 11604737 15-Jun-2016 CONZzz08144 SPRING WASHER M12 150.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
192 11604738 17-Jun-2016 CONZz08146 SPRING WASHER M16 380.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 6 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
193 11605149 18-Jun-2016 CONZZ08662 SOCKET HEAD CAP SCREW  3/8"-16x1 1/2" 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
194 11604836 15-Jun-2016 CONZZ09265 COPPER CRIMP LUGS TYPE CL 1.5-5 ( 1.5 SQMM x M5) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
195 11605099 17-Jun-2016 CONZZ09926 LIGHT LIP CHANNEL 100x50x20x3.2 MM.x L.6 M. 15.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
196 11604832 17-Jun-2016 CONZZ10236 BOLT HEX.HEAD+NUT+SPRING WASHER M27-3x280 mm. (CLASS 8.8) 44.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
197 11604957 18-Jun-2016 CONZZ11196 ELBOW 90- (LONG) CS #SEAM DIA 3" SCH40 (BW) 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
198 11605042 18-Jun-2016 CONzZz11277 BOLT HEX HEAD (BRASS) M6-1x15 mm. 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
199 11604827 17-Jun-2016 CONZzZz11916 BOLT HEX.HEAD (STAINLESS)M16-2x50 mm. 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
200 11604828 17-Jun-2016 CONZZz11918 NUT HEX. STAINLESS STEEL M16-P.2 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
201 11605040 17-Jun-2016 CONZZz12640 SOCKET HEAD CAP SCREW  M20-2.5x50 mm.(STAINLESS) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
202 11602918 18-Jun-2016 CONZZz13051 BALL VALVE 1/2" #STAINLESS WP 400 PSI. ( END THREADED ) "KITZ" 6.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
203 11604826 17-Jun-2016 CONZZz13292 SOCKET HEAD CAP SCREW  M24-3.0x65 mm(CLASS 8.8) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
204 11604952 14-Jun-2016 CONZZz13779 STRAIGHT MALE STUD FITTING GE12-PL/1/2 NPT 5.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
205 11605039 18-Jun-2016 CONZZ14574 BOLT&NUT HEX.HEAD M4-0.7x20 mm. 100.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
206 11604821 15-Jun-2016 CONZZ14730 FLAT HEAD HEX.SOCKET M8-1.25x20MM (CLASS 8.8) FOR PAY OFF SKM#1,2 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
207 11605171 18-Jun-2016 CONZZ15035 NUT HEX.HEAD 1/2"-13 UNC FOR VEHICLE 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
208 11604820 15-Jun-2016 CONZZz15911 LOW HEAD SOCKET CAP SCREWM10-1.5x20 mm.(CLASS 8.8) 160.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
209 11605170 18-Jun-2016 CONzZ17414 O-RING 730204 ID. 7.7x1.6 FOR KRESS 6.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
210 11604818 17-Jun-2016 CONZzZz18011 SOCKET SET SCREW M6-1x10 (STAINLESS 304) 15.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
211 11605124 18-Jun-2016 CONZzZz18223 GRINDING WHEEL TYPE 7 FOR G1-4 DIA.915x152x508 mm. 2.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
212 11605124 18-Jun-2016 CONZzZz18225 GRINDING WHEEL TYPE 1 SPECIAL G5-6 DIA.915x152x304.8 mm. 1.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
213 11605124 18-Jun-2016 CONZZz18226 GRINDING WHEEL TYPE 7 SPECIAL G1-4 DIA.915x152x508 mm. 2.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
214 11604954 14-Jun-2016 CONZZ19050 ELBOW 90 CARB.STEEL DIA.1" SCH10#SEAM (BW) 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
215 11605168 18-Jun-2016 CONZZ19159 BOLT HEX. HEAD(CLASS10.9)7/16"-14 UNC x 1 1/4" LG FOR TRANSMISSION 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
HOUSING OF FANTUZZI
216 11604813 15-Jun-2016 CONZZz19172 BOLT HEX.HEAD (STAINLESS)M10-1.5x20 200.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
217 11604943 14-Jun-2016 CONZZz19753 ELBOW 90' STAINLESS SUS304 DIA.4" SCH40#SEAM (BW) 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
218 11604943 14-Jun-2016 CONZZ19762 ELBOW 45' STAINLESS SUS304 DIA.4" SCH40#SEAM(BW) 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
219 11604811 15-Jun-2016 CONZZ20005 PIPE CLAMP ALUMINIUM (HEAVY SERIES)FOR PIPE OD.76.1 mm. 6.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
220 11604810 15-Jun-2016 CONZZ20199 II\_/I?/IW) EEJ?II_D'I'SI-?RCEP,(AEJ CAP SCREW M27-3x65 MM.(CLASS 8.8)(LOW HEAD = 21 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
221 11604809 15-Jun-2016 CONZZz20721 SPRING WASHER DIA.48 mm. 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
222 11604948 16-Jun-2016 CONZzZz20723 STAINLESS STEEL TUBE DIA 10 x 1.0 mm (L=6 Mtr) 3.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
223 11604808 15-Jun-2016 CONZzZz20810 STRAIGHT FITTINGS G16-PS 30.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
224 11604807 15-Jun-2016 CONZzZz20892 BOLT HEX.HEAD(CLASS 10.9)M20-2.5x45 mm. FOR FANTUZZI 12.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 7 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016

Offices Supplies & Consumble Parts

Post Dated 20 Jun 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
225 11604804 15-Jun-2016 CONZZz21023  [BOLT,NUT,WASHER,SPRING WASHER M12x1.75x30(STAINLESS) 20.00  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
226 11604806 17-Jun-2016 CONZZz21085 [BOLT HEX.HEAD (STAINLESS) M10-1.50x25 mm. 60.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
227 11604802 17-Jun-2016 CONZZz21235 [BOLT HEX.HEAD(CLASS10.9) M16-2x220mm(END THREAD=60 30.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
228 11604803 15-Jun-2016 CONZZ21239 |[COPPER GASKET ID=95,0D=165,TH.=4.5 MM. 4.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
229 11604801 15-Jun-2016 CONZZ21628 |EXPANSION BOLT M10x70 MM 75.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
230 11604799 15-Jun-2016 CONZZz22053 [BOLT HEX.HEAD(CLASS 8.8) M6-1x10MM 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
231 11604950 16-Jun-2016 CONZZz22831 |STEEL PLATE SS400 DIM 1200x2400x15 mm 4.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
232 11605167 18-Jun-2016 CONZZz22889 |BOLT HEX.HEAD&NUT+WASHER M10x1.5x100 STAINLESS 50.00[ Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
233 11605133 17-Jun-2016 CONZZ23594 |wmdnehd e 3"x2.3" 10.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
234 11605166 18-Jun-2016 CONZZz23821 [BOLT AND NUT(CLASS 10.9) 1""x8G L=3 3/4"" FOR KRESS 30.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
235 11604797 17-Jun-2016 CONZZ23970 |[LOW HEAD SOCKET CAP SCREW M16-2x30 (CLASS 8.8) 70.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
236 11605034 17-Jun-2016 CONZZ24311 |SOCKET HEAD CAP SCREW M5-0.8x15MM(MAT.STAINLESS 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
237 11604954 14-Jun-2016 CONZZ24385 |ELBOW 90' STAINLESS SUS304 DIA.2" SCH10#SEAM (BW) 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
238 11604796 15-Jun-2016 CONZZ24602 |EXTERNAL RETAINING RING DIA.85 MM FOR ENTRY PINCH ROLL SKM#1,2 1.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
239 11604795 17-Jun-2016 CONZZ26007 |BOLT HEX.HEAD M16-2x35 MM (FULL THREAD) CLASS 8.8 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
240 11604790 15-Jun-2016 CONZZz28358 |WASHERS(STAINLESS STEEL) M12 FOR WET SECTION 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
241 11604791 15-Jun-2016 CONZZz28359 [SPRING LOCK WASHERS ~ M12 (STAINLESS STEEL) 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
242 11605032 17-Jun-2016 CONZZ28559 g"‘(ﬂ#ﬁAD HEX.SOCKET M16-2.0x120mm. (FULL THREAD) FOR CROP SHEAR 60.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
243 11604789 15-Jun-2016 CONZZz28587 |BOLT HEX.HEAD (STAINLESS)M16-2x70 mm. 25.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
244 11604887 15-Jun-2016 CONZZz28985 [BOLT&NUT HEX.STAINL.ST.A4 55010 M12-1.75x100mm. 20.00  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
245 11604894 15-Jun-2016 CONZZz29111 |ELBOW 90' SWIVEL ADAPTOR (24470518 OD.5/16" (8MM) 20.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
246 11605124 18-Jun-2016 CONZZz29192 |GRINDING WHEEL TYPE 1 FOR G5-6 DIA.915x152x304.8 mm. 2.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
247 11605194 18-Jun-2016 CONZZ29205 2;;2.';‘ (I)l\IiSFiRI\-IrTIl-JOZgI( NUT M10-1.25 (P/N.2900.080.0008) FOR PROPELLER 10.00{  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
248 11605055 17-Jun-2016 CONZZ29267 ggﬁiﬁTzHEX'HEAD CAP SCREW M24-3x80 MM #12.9 FOR PAY OFF 24.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
249 11605198 18-Jun-2016 CONZZ29402  [NUT M10-1.5 (STAINLESS) 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
250 11604954 14-Jun-2016 CONZZ29933 [STAINLESS STEEL PIPE DIA.2"" SCH10 SUS#304 10.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
251 11601343 18-Jun-2016 CONZZ30494 [SOCKET HEAD CAP SCREW M5-0.8x30 MM. (CLASS 12.9) 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
252 11604917 15-Jun-2016 CONZZz30501 [BOLT HEX.HEAD (HOT DIP GAL) M16-2x60 mm. +NUT+SPRING WASHER 30.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
253 11604918 15-Jun-2016 CONZZ30504 ESFIETJEI%I'X.SZEC/:\I'[I)O(SOT DIP GAL) M16-2x80 mm. +NUT+SPRING WASHER 20.00  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
254 11605059 18-Jun-2016 CONZZz30573 [SOCKET HEAD CAP SCREW+NUT+WASHER M42-4.5x120 MM. (CLASS 12.9) 4.00[ Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
255 11604927 15-Jun-2016 CONZZz31080 [SOCKET HEAD CAP SCREW M 22-2.5x55 (CLASS 12.9 ) FOR FANTUZZI 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
256 11604930 15-Jun-2016 CONZZz31195 [LOW HEAD SOCKET CAP SCREW M12-1.75x20 MM. (HEAD T=7.5 MM) 60.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 8 of 9




PR Received dated 13 Jun 2016 - 19 Jun 2016 Offices Supplies & Consumble Parts Post Dated 20 Jun 2016

B r RF losin
Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer u_ye EMAIL ADDRESS PR Status Q Closing
Date site Dated
257 11605064 17-Jun-2016 CONZZ31665 HEX NUT M5 (STAINLESS) 0.8 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016
258 11604935 15-Jun-2016 CONZzz31871 BOLT HEX.HEAD+NUT+WASHER M20x2.5x100 MM (STAINLESS STEEL) 100.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 27-Jun-2016

Page 9 of 9




